
10124 10124.5 10125 10125.5 10126
cyclenum

1.5

2

2.5

3

3.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

4.5−

4−

3.5−

3−

2.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

1−

0.5−

0

0.5

1

de
lta
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2X
4e

Y

delta46_12X4eY:cyclenum {run == 8004}
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cyclenum

8002

8002.5

8003

8003.5

8004

8004.5

8005
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8006
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n

run:cyclenum {run == 8004}
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cyclenum

0
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3
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segment:cyclenum {run == 8004}



10124 10124.5 10125 10125.5 10126
cyclenum

70.4−

70.2−

70−

69.8−

69.6−

69.4−

69.2−

69−

68.8−

68.6−

68.4−

68.2−

us
l_

1X
usl_1X:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

7−

6.5−

6−

5.5−

5−us
l_

4a
Y

usl_4aY:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

4.5

5

5.5

6

6.5

us
l_

4e
X

usl_4eX:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

23.5

24

24.5

25

25.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

36.4−

36.2−

us
l_

12
X

usl_12X:cyclenum {run == 8004}
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cyclenum

8002

8002.5

8003

8003.5

8004

8004.5

8005

8005.5

8006
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n

run:cyclenum {run == 8004}



10124 10124.5 10125 10125.5 10126
cyclenum

123−

122.5−

122−

121.5−

121−us
r_

1X

usr_1X:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

1−

0.5−

0

0.5

1
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r_

4a
Y

usr_4aY:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

174

174.5

175

175.5

176

us
r_

4e
X

usr_4eX:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

15

15.5

16

16.5

17

us
r_

4e
Y

usr_4eY:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

42.5−

42−

41.5−

41−

40.5−

us
r_

12
X

usr_12X:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

8002

8002.5

8003

8003.5

8004

8004.5

8005

8005.5

8006
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n

run:cyclenum {run == 8004}



10124 10124.5 10125 10125.5 10126
cyclenum

16109

16109.5

16110

16110.5

16111

us
l_

co
il1

usl_coil1:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

1984

1984.5

1985

1985.5

1986

us
l_

co
il3

usl_coil3:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

4716

4716.5

4717

4717.5

4718

us
l_

co
il4

usl_coil4:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

2671.5−

2671−

2670.5−

2670−

2669.5−us
l_

co
il6

usl_coil6:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

5432.6

5432.8

5433

5433.2

5433.4

5433.6

5433.8

5434

5434.2

5434.4

5434.6

5434.8
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l_

co
il7

usl_coil7:cyclenum {run == 8004}
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cyclenum

8002

8002.5

8003

8003.5

8004

8004.5

8005

8005.5

8006
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n

run:cyclenum {run == 8004}



10124 10124.5 10125 10125.5 10126
cyclenum

15621.5−

15621−

15620.5−

15620−

15619.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

1500−

1499.5−

1499−

1498.5−

1498−

us
r_

co
il3

usr_coil3:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

6002

6002.5

6003

6003.5

6004
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r_

co
il4

usr_coil4:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

3075.5−

3075−

3074.5−

3074−

3073.5−us
r_

co
il6

usr_coil6:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

33344

33344.5

33345

33345.5

33346

us
r_

co
il7

usr_coil7:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

8002

8002.5

8003

8003.5

8004

8004.5

8005

8005.5

8006
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n

run:cyclenum {run == 8004}



10124 10124.5 10125 10125.5 10126
cyclenum

131.5−

131−

130.5−

130−

129.5−

1X
_c
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1X_coil1:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

13

13.5

14

14.5

15

1X
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l3

1X_coil3:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

209.5

210

210.5

211

211.5

1X
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l7

1X_coil7:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

234.5−

234−

233.5−

233−

232.5−4e
X

_c
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l1

4eX_coil1:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

19−

18.5−

18−

17.5−

17−

4e
X
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4eX_coil3:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

216

216.5

217

217.5

218

4e
X
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l7

4eX_coil7:cyclenum {run == 8004}



10124 10124.5 10125 10125.5 10126
cyclenum

299.5

300

300.5
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301.5
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Y
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4aY_coil4:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

110.5−

110−

109.5−

109−

108.5−4a
Y
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4aY_coil6:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

40.5−

40−

39.5−

39−

38.5−4a
Y
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4aY_coil7:cyclenum {run == 8004}
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cyclenum

279

279.5
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4eY_coil4:cyclenum {run == 8004}
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134−

133.5−
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4e
Y
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4eY_coil6:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

32−

31.5−

31−

30.5−

30−

4e
Y

_c
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4eY_coil7:cyclenum {run == 8004}
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224−

223.5−
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12
X
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12X_coil1:cyclenum {run == 8004}

10124 10124.5 10125 10125.5 10126
cyclenum

80.8−

80.6−

80.4−

80.2−

80−

79.8−

79.6−

79.4−

79.2−

79−

78.8−

78.6−
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X
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12X_coil3:cyclenum {run == 8004}
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cyclenum
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12X_coil4:cyclenum {run == 8004}
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4.5

5

5.5
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X
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12X_coil6:cyclenum {run == 8004}
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cyclenum
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X

_c
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12X_coil7:cyclenum {run == 8004}
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cyclenum
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n

run:cyclenum {run == 8004}
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